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QUESTION 1

B

12 l
/ hi
A- h \e

I 1 |

oF 1

In the figure above, h is the height of triangle ABC from vertex B to base AC. What is the value of//?
A. see the explanation
Correct Answer: A

Answer:

| 60 |
[ 13

QUESTION 2

Although the claim that no one knows what dark matter is remains parallel assertion that dark matter has not been
detected.

A. contentious

B. questionable

C. sound

D. prominent

E. unassailable

F. unverifiable

G. some scientists dispute the

Correct Answer: CE

QUESTION 3
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(3.8 * 62%) = (0.24 = 6%%) =

oA 236 6%

© B 236 x 62

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Correct Answer: A

QUESTION 4

In the xv -plane, line £ hins x -intercept 3 and y -intercept 4, and line m has x -intercept 4 and v -intercept 3.

Quantity A Quantity B
The slope of line £ The slope of line m

A. Quantity A is greater.

B. Quantity B is greater.

C. The two quantities are equal.

D. The relationship cannot be determined from the information given.

Correct Answer: B
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QUESTION 5

A total of S72.000 was invested for one month in a new money market account that paid simple annual interest at the
rate of r percent- If the investment earned $360 in interest for the month, what is the value of r?

A.5.0
B. 6.0
C.6.5
D.7.0
E.75

Correct Answer: B

QUESTION 6

Although a Inch concentration of cholesterol in the blood increases the body\\'s ability to fight off infections it typically
also increases the risk of dying from a stroke or heart attack, two of the most common causes of death However, in a
recently completed ten-year study of people eighty-five and older, higher cholesterol levels tended to be associated with
greater longevity.

Which of the following, if true, most helps to explain the contrast between the highlighted effect of high cholesterol levels
and the result of the study?

A. Both heart attacks and strokes are typically brought on by an obstruction of the flow of blood through a blood vessel.
B. Blood cholesterol levels can be controlled in part by suitable dietary regimens

C. Among the participants m the study, the proportion with very high blood cholesterol levels was higher than among the
general population.

D. Regular monitoring of the participants in the study revealed that most of them maintained relatively stable blood
cholesterol levels over tune.

E. As people age. the body\\'s ability to fight off infections diminishes.

Correct Answer: D

QUESTION 7

Itis hardly (i) that Roland, raised to (ii) ostentation, is building a house that is the antithesis of
opulence.

A. undeniable
B. remarkable
C. irrevocable

D. savor
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E. recognize
F. flout

Correct Answer: BE

QUESTION 8

When Flemish painter Anthony Van Dyck moved to England in 1632 to become court painter to Charles The introduced
an entirely new way of representing dress in portraiture. In women\\'s portraits. he left off fashionable accessories,
depicted subjects in unbuttoned sleeves and collars, and added lavish drapery and jewels. For the first time an artist
actively participated in dressing his subjects, creating an amalgam of fantasy and reality. While Van Dyck was most
innovative when representing women, he used similar elements in portraits of men.

Van Dyck\\'s Portrait of Thomas Killigrew and Willian. Lord Crofts (1638) demonstrates how the artist relaxed and
unbuttoned men\\'s dress to accord with an underlying theme. The double portrait may be seen as an essay in grief:
Killigrew. a poet and playwright, had lost his wife Cecelia to the plague shortly before the sitting, and Crofts was her
nephew. The painting contains clear references to the situation at hand. The background features a broken column, a
traditional emblem of earthly transience. A drawing in Killigrew\\'s right hand depicts two Itinerary monuments. Crofts
holds a blank sheet of paper, seen by some scholars as an analog to the drawing Killigrew holds: a symbol of what is
gone.

At historians have interpreted the clothing depicted in this portrait, particularly Crofts\\' doublet which is worn unbuttoned
in back, as an allusion to the subjects\\' grief-stricken distraction. It is true that Killigrew\\'s dress includes references to
his loss--he wears a cross inscribed with his wife\\'s initials. There is an intimate nature to this painting, which seems
underscored by the loose clothing worn by both subjects. However, diis reading of the costumes as signs of grief does
not take account of seventeenth-century fashion conventions. Only Killigrew appears in noticeably disheveled attire;

Crofts" dress would be quite appropriate for a formal portrait. Though black clothing, such as that won by Crofil, was
common for mourning, it was also ordinary on other occasions. Furthermore, during the first stage of mounting no shiny
surfaces, such as Crofts\\' satin doublet, would be permitted. The unbuttoned slit on Crofts" doublet was probably a
matter of style: a French courtier in a 1635 fashion print by Bosse. who is gallivanting rather than grieving, wears a
similarly undone doublet. Evidence suggests that by the late 1630s a certain calculated looseness was conventional in
men\\'s formal dress. Ribeiro. for example, cites the writings of moralists objecting to this style.

Killigrew\\'s attire, though even looser than Crofts", should not necessarily be associated with grief. Other seventeenth-
century subjects depicted in melancholic states do not dress this way. Although Killigrew\\'s "undress" lends this portrait
a distinctive intimacy, it might also refer to Killigrew\\'s literary career. Many of Van Dyck\\'s other subjects who engaged
in literary pursuits are depicted in loose clothing. The blank sheet held by Crofts may be a reminder not only of
Killigrew\\'s loss but also of his solace: he had but to express his grief in writing.

The passage suggests which of the following about Van Dyck\\'s portraits of men?

A. They included fewer fashionable accessories than did his portraits of women.

B. They frequently depicted subjects in states of melancholy or mounting.

C. They gave less attention to men\\'s clothing than did most paintings of the time.

D. They did not usually include loose or disheveled clothing

E. They were less innovative than were his portraits of women.

Correct Answer: E
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QUESTION 9

As originally formulated, the selfish-herd theory of prey species aggregation assumed that predatory attacks were
equally likely to be launched from any position within the environment. In some circumstances (e.g.. avian predators
attacking prey from above), such an approach is appropriate. However, as James et al. argue, in many predator-prey
associations, attacks are unlikely to occur from positions within the group. For example, it is likely that an ambushing
predator waiting in the path of a group would be detected before the group moves over its position. Hence, in many
ecological situations, predatory attacks on grouped prey will occur exclusively from outside the group. In such
circumstances, there is a strong premium to a group member in being in the interior of the group. James would most
likely describe the original formulation of the selfish-herd theory as

A. completely untenable in its explanation of predator-prey associations

B. ill-equipped to explain exceptions to standard predator-prey associations

C. insufficiently attentive to the diversity of predator-prey associations

D. excessively concerned with the outcomes of predator-prey associations

E. problematically neglectful of the cooperative elements of predator-prey associations

Correct Answer: C

QUESTION 10

From Januvary 1, 1998, to January 1, 1999, the population of City W decreased by 2 percent; and
from Janvary 1, 1999, 10 January |, 2000, the population increased by 2 percent.
Quantity A Quantity B
The population of City W on January 1, 1998 I'he population of City W on January 1, 2000

A. Quantity A is greater.
B. Quantity B is greater.
C. The two quantities are equal.
D. The relationship cannot be determined from the information given.

Correct Answer: D

QUESTION 11

An investor purchased two properties. A and B. The investor later sold property A at a selling price that was 20 percent
more than the purchase price of A. and the investor sold property B at a selling price that was 40 percent less than the
purchase price of B. If the combined purchase price of properties A and B was S200.000 and the combined selling price
was S210.000. what was the selling price of property A?
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A. $1 60.000
B. $1 70.000
C. $1 80.000
D. $1 90.000
E. $200.000

Correct Answer: C

QUESTION 12
A rancher is planning to build an enclosed pen for horses on level ground. The pen will be rectangular with a length that

is 2 times the width. If the perimeter of the pen will be P meters, which of the following represents the area, in square
meters, of the pen in terms of P?

A =
4’

2P° 4 P

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Correct Answer: D
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QUESTION 13

Sensationalism--the purveyance of emotionally charged content. focused mainly on violent crime, to a broad public--has
often been decried, but the full history of the phenomenon has yet to be written. Scholars have tended to dismiss
sensationalism as unworthy of serious study, based on two pervasive though somewhat incompatible assumptions: first,
that sensationalism is essentially a commercial product, built on the exploitation of modern mass media, and second,
that it appeals almost entirely to a simple, basic emotion and thus has tittle history apart from the changing technological
means of spreading it. An exploration of sensationalism\\'s early history, however, challenges both assumptions and
suggests that they have tended to obscure the complexity and historicity of the genre.

According to the passage, scholars have not given sensationalism serious consideration because they believe
sensationalism

A. possesses largely emotional rather than rational content
B. is produced with an eye to making money
C. lacks historical complexity

Correct Answer: BC

QUESTION 14
Exhibit.
13 13
p and m, where p and m are integers and 0 < p < m,
x ¥
Chuantity A Quantity B

. y
A. Quantity A is greater.

B. Quantity B is greater.

C. The two quantities are equal

D. The relationship cannot be determined from the information given.

Correct Answer: A

QUESTION 15

The average (arithmetic mean) and the median of a set of 5 numbers is 0. and the set contains at least one number that
is not equal to 0. Which of the following statements must be true?
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A. Exactly one of the numbers is not equal to 0.

B. Exactly one of the numbers is negative.

C. Exactly two of the numbers are negative.

D. The set has the same number of positive numbers as negative numbers.
E. The sum of the nonzero numbers in the set is 0.

Correct Answer: D
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